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TCP State TCP Packet TCP State
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e ulimit -s(8192KB)
« PTHREAD STACK MIN(16384)
« pthread_attr_setstacksize
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« man pthread_create
On Linux/x86-32, the default stack size for a
new thread is 2 megabytes. Under the NPTL threading
implementation, if the RLIMIT_STACK soft resource
limit at the time the program started has any value
other than "unlimited”, then it determines the default
stack size of new threads.
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« man pthread_setstacksize

pthread_attr_setstacksize() can fail with the following
error:

EINVAL The stack size is less than
PTHREAD_STACK_MIN (16384) bytes

meitu



AR R R DS S| (§ | IT2muyr

The #1 cause of context switches is having more
active threads than you have processors. As the ratio
of active threads to processors increases, the number
of context switches also increases - linearly if you're
lucky, but often exponentially.
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STATE LOCAL LOCAL REMOTE REMOTE
ADDRESS PORT ADDRESS PQRT

Connection 1

Connection 2

Connection &

Caonmection n

meitu



ERZ . IS RS

In information technology and computer science,
a program is described as stateful if it is

designed to remember preceding events or user
interactions; the remembered information is

called the state of the system.
—Wikipedia
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Micro Service Micro Service

y sayHello(HelloRequest req.

: StreamDbserver<HelloRes ponses responseObserver] {

1 HelloResponse reply = HelloResponse.newBuilder( ).

! eatviessage("Hello " + ren.getname[)) bulld);
respanseObserver onValue(re phy};

HelloResponse response = blochingStub. sayHellofrequest );

IDL - Proto 3
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HTTP/2 Inside: multiplexing

Server Client

Single TCP connection
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client connd pushd redis
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key-hash

message sent @mmm@.

message acked m
message unacked mm@.

key-hash
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- multi-exec
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Golang—f#] .

595 (17%) I simplicity
543 (15%) I easy

523 (15%) I concurrency
495 (14%) Il simple

454 (13%) I fast

293 (8%) I syntax

287 (8%) M standard library
286 (8%) HM tooling

270 (8%) M static

266 (7%) M performance
235 (7%) M speed

202 (6%) M interfaces

184 (5%) B channels

183 (5%) M community
180 (5%) M good

177 (5%) M compilation
177 (5%) M goroutines
167 (5%) M binary

156 (4%) M great

148 (4%) W tools

146
137
127
124
118
114
114

87
82
78
78

8833333

(4%) M compiled
(4%) B compile
(4%) W type

(3%) W small

3%) B c

(3%) B gofmt

(3%) W libraries
(2%) 1 clean

(2%) 0 easy to learn
(2%) 1 deployment
{2%) 1 memory
(2%) 0 strong

(2%) 0 concise
(2%) 1 single binary
(2%) 1 low

(2%) 1 static typing
(2%) 1 build

(2%) 1 easy to read

(2%) 1 fast compilation
(2%) 1 simple syntax

55
54
51
47
46
45
43
41
39
39
38
38
36
35
35
33
27
23

(2%) I type system

(29%) I simple language
(196) | easy concurrency
(1%) 1 static binaries

(196) | go fmt

(196) 1 fast compile

(1%) | small language

(196) | error handling

(1%) | concurrency model
(19) | go routines

(196) | easy to use

(1%) 1 statically typed

(196) | cross platform

(19) | concurrency primitives
(1%) | goroutines channels
(1%) | easy to write

(1%) | great standard library
(1%) | ease of use

940 (26%) (1 No response
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Simplicity

Number of keywords is an approximate measure of complexity

C (K&R) K&R 32
C++ 1991 48
Java 3rd edition 50
C# 2010 T4
C++0x 2010 72+11*
JavaScript ECMA-262 26+16*
Python e 31
Pascal ISO 35
Modula-2 1980 40
Oberon 1990 32
Go 2010 25
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Hello, world 2.0

Serving http://localhost:8888/world.

package main

import (
LA Fmt "
n http mn
)

func handler(c *http.Conn, r *http.Request) {
fmt.Fprintf(c, "Hello, %s.", r.URL.Path[1l:])
¥

func main() {
http.ListenAndServe(" :8080",
http.HandlerFunc(handler))
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ped el ped P e
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16
17
18
19
20
21
22
13

package main

impert "time"

func main() {
var Ball int
table := make(chan int)
go player(table)
go player(table)

table <- 33ll
time.Sleep(l * time.Secand)
<-tablc

r

func player(table chan int) {
for {
ball := <=table
Lalles
Lire.Sleep(100 % Lire.Millisecond)
table <= DA1L
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